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(i)  x 7 
 15 

x + 7 = 15 

(ii) 9  x  3 9 – x = 3 

(iii) x 4 24 4x = 24 

(iv) y  5 
7 

7
5
y
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(v) x  y 
12 

x + 2y = 12 

 (i)  (iv) 
 (v) 

x y 
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 LHS RHS 

LHS = RHS 

LHS  RHS 
 LHS = RHS 
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Ex.1 4x = 12 

Sol. x LHS RHS 
x 

LHS = RHS 

x LHS RHS 
1 4 × 1 = 4 12 

2 4 × 2 = 8 12 
3 4 × 3 = 12 12 

 x = 3 

Ex.2 3x – 5 = 7 – x 

Sol. x  LHS RHS 
x 

 LHS =  RHS 

x LHS RHS 
1 3 × 1 – 5 = – 2 7 – 1 = 6 

2 3 × 2 – 5 = 1 7 – 2 = 5 

3 3 × 3 – 5  =  4 7 – 3 = 4 

   x = 3 

Ex.3 85y
3
1



Sol. y 
LHS RHS 

y 
LHS = RHS 

y LHS RHS 
3 

653
3
1


8 

6 
756

3
1


8 

9 
859

3
1


8 

y =  9, :  

  LHS = RHS 

 y = 9 

 : 

 (i) : 

 (ii) : 

 (iii) : 

 (iv) : 

 

Ex.4 x – 5 = 7 

Sol.   x – 5 = 7 

  x – 5 + 5 = 7 + 5 [  5 ] 

 x = 12 

x = 12 

: x = 12 
LHS = 12 – 5 = 7  RHS  = 7. 

 x = 12,  LHS = RHS 

Ex.5 8 + x = 3 

Sol.  8 + x = 3  

  8 + x – 8 = 3 – 8  

      [ 8 ] 

x + 8  – 8 = 3 – 8 [ 8 + x = x  + 8] 

 x = –5 

x = – 5 

: x = –5 
LHS = 8 – 5 = 3 RHS = 3 

 x  = –5,   LHS =  RHS 

Ex.6 8x = 24 
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Sol.  8x = 24 


8
24

8
x8
  [ 8 ] 

 x = 3 

 x = 3 

: x = 3 

LHS = 8 × 3 = 24  RHS = 24 

 x =  3, LHS = RHS 

Ex.7 18x
3
2



Sol. 18x
3
2

 
2
318

2
3x

3
2



[
2
3 ] 

 27x
2
3

3
2

  x = 27 

 x = 27 

 :  x = 27 

LHS = 1827
3
2

 RHS = 18 

  x = 27, : LHS = RHS 

x – 4 = 5 

 x – 4 + 4 =  5 + 4    x = 5 +4 

x + 5 = 3 
x + 5  – 5 = 3 – 5  x = 3 – 5. 

 

Ex.8 3x + 5 = 13 – x 

Sol.  3x + 5 = 13 – x  3x + x = 13 – 5  

  [–x  LHS +5  RHS ] 

 4x = 8 


4
8

4
x4
   [ 4 ] 

   x = 2 
 x = 2 

:  x = 2 

  LHS = 3 × 2 + 5 = 11  RHS  = 13 – 2 = 11 

LHS = RHS,  x = 2.       

Ex.9 : 
2
x57x 

Sol.
2
x57x   75

2
xx 

[
2
x LHS –7  RHS ] 

   12
2
x


   2122
2
x



[ 2 ]

  x = 24 

: x = 24 

  LHS  = (24 – 7) = 17  

 RHS = 1724
2
15 






  . 

 LHS  = RHS, x = 24  

Ex.10  : 3(x + 3) – 2(x –1) = 5(x – 5).  

Sol.  3(x + 3) – 2(x – 1) = 5(x – 5) 

 3x + 9 – 2x + 2 = 5x – 25  

   [ ]  



Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141

Edubull

 x  + 11  = 5x   – 25 

 x – 5x  = –25 –11  

       [5x  LHS  11  RHS ] 

 –4x  = –36 

 x = 9 [  –4 ]  

 x = 9 

: x = 9 

  LHS = 3(9 + 3) – 2 (9 – 1) =  (3 × 12 – 2 × 8) = 
36 – 16 = 20 

  RHS =  5(9 – 5) = 5 × 4 = 20 

 LHS  = RHS, x = 9. 

Ex.11 : 2
6
x

2
1

8
x



Sol. 24 (8, 2 6  LCM ) 
:   

3x – 12 = 4x – 48 
 3x – 4x = – 48 + 12  

   [4x  LHS –12  RHS ]

   –x =  –36 
 x = 36 

x = 36 

 : x = 36 

4
8
32

8
436

2
1

8
36LHS 






 







 

4)26(2
6
36RHS 






 

 LHS  = RHS, x = 36. 

 

Ex.12 5 
16 

Sol. x 
   3x – 5 = 16 

 3x = 16 + 5  

       [– 5  RHS ] 

 3x = 21 
 x = 7[ 3 ] 

7 

Ex.13
9 

81 

Sol. x 

= (x + 9) 

 x + (x + 9) = 81  

 2x + 9  = 81 

2x = 81 – 9  

     [9 RHS ] 

   2x = 72 

 x = 36 [ 2 ] 

= 36 

= (36 + 9) = 45.

Ex.14
 228 

Sol. x 

= 2x 

 = 2 (  + )  

  = 2(2x + x)  = 6x 

6x =   228  
6

228x 

     [ 6 ]  

x = 38 

= 38 

= (2 × 38)  = 76 
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Ex.15
12 

Sol. x 

= 3x 

  12   = (x + 12) 

  12 = (3x + 12) 

  3x + 12 =  2(x + 12)  

 3x + 12 = 2x + 24 

 3x – 2x = 24 – 12 

  [2x LHS  12  RHS ] 

 x = 12 

   = 12 

   = (3 × 12)  = 36 




